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Tension tests

(Uniaxial) tension test: the most common mechanical
stress-strain test performed in tension (2! &)

Dogbone 22| A|H (84, S 2 &)

Al H(specimen)2 =2 Lt 1| (fracture) 7| 2 et
I 7kX| =74 Lt

Load-cell: A| HO{| 7}SHE forceE F5H :
3 Tensile tester
Extensometer: A| 2| Z 0| (elongation) H2E F 7

_ Extensometer
Reduced section
' 60 mm |
| |
4
-——-—1—-——-12.8 mm Diameter—— {—— - —+*-19 mm Diameter
| | t
| 50 mm | Z\
Gauge length 9.5 mm Radius

Load-cell

http://www.epsilontech.com/products/axial-extensometer-model-3542/



Measuring strains

Measuring Relative
motion of two points

Strain pertaining to a smaller area (point)
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Tension tests

Calibration

% calibration data obtained using gauge blocks
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Voltage changes from longitudinal extensometer [V] Extensometer voltage

Voltage from load [V]
Calibration
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Load cellZ} extensometer= M 7| A
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physical quantity (Force &= Z 0| a2
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Force [kN]
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Tension tests

Force [kN]

N
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= engineering
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